EARAROBEEIERT — 2 N— IBISH —F

20185F9A11H (X) 12E£R4H

B TR o057 AEmmstER C23 ¥ 5% [Gewr w [ emm — | 2 o) o s
[AE£] 1 %&:250,000 ~ 27#&:57,000  ~ 3#&:30,000H  437#&:22,000" ~ 57#&:15,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 NESES S H 5 géégiﬁm 1:(3_2).4 6-6-6-3 |37.7| — | 1 | 48 %?ﬁ (&3R)
QIVLKYSURIR B IORNST— K 2 15 2m97-n
olglg|77EYa> 410 ;':%‘s‘éiﬂ 1:(343).2 3-3-2-1 |89.1| — 6 | 492 imfg}(%i;)wva?
RZANTTLREF— BAETTNT—X (-5) e Ye
3lgl9 srxOo—v i 4 51%%}? 1:(32?3.6 5-4-3-2 | 39.1| — 5 428 E(J;;'rk’iﬂp(ﬁgzﬂ
QI NATA—H— Bt —NFT 55 QORISR SN
al7l 7T r75— # 6 'sklgﬁafﬁl (11:313/.29) 8-8-7-5 |38.9| — | 2 | 410 %ﬁ;ﬁ?;%?)wya;
Qix{yamAE—5— B PONU-NTT O | w7 Sh s
A L R R R R A e
LAY/ 97— BXHTN [IimEye]
6 4| TFFT— b0 6 f_ﬁﬁoﬁﬂz 1:(351).9 4-4-6-6 (402 — | 9 | 422 jﬁizﬂz (£3R)
QRFAT-NE BT ) ey sy k77—n
71111 ¥2H—~A # o6 | AKX 1< 7351:? 7-7-8-7 | 39.7| — | 7 | 567 ?ﬁfﬁ%ﬁ (#R)
QRTARTIL BivaA-Iib 4| Fopsisg
8 o | I LTNT 4 — 4 g%agamﬁ 1:(325).4 1-1-1-4 | 41.5| — | 4 | 481 ﬁ(?;)ﬁgw(%?wyay
LTANNTTFF— G Z—S—F T — b D | X252 F9—0
95|57 7L 7 %iﬂ;*— 1:(315).6 2-2-4-9 |41.3| — | 8 | 427 gﬁfﬁéé (&3R)
LT A FAFAF TR BiHHA—T 02| s
® I—F—@EBIERL
13—+— |[2,58,4,9,6,1,(3,7)
23=7F= 2,5,8,(4,9),6,1,7,3
33—7+— [28,9,56,47,(1,3)
41—F— 8,9,6,2,7,4,(1,3),5
[ N5
B 6 1509 794K 6-8 650 & 6-8 580 JEE 6-8-9 4,430
1 B 6 130F9 6-9 340F3 | | # B 6-8 730/ | | S 6-8-9 14,030
8 220/ 8-9 2,150/ B E 6-8 1,950/
9 140/ B H 6-8 2,160

ABICOVWTRDTEEERROODE. TR LIV,




